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3. AB 3 m s 1 3 Hz

18 m
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8. 6.5 × 10 7 m B

20° 5.7 × 10 6 m B

A. 1

B. 2

C. 3

D. 4

9. 2 3 0.02 m 0.03 mm

90 cm

A. 1.67 × 10 7 m

B. 6 × 10 7 m

C. 6.67 × 10 7 m

D. 6 × 10 6 m

10. X AB

BC AC

X

A. 1.02

B. 1.15

C. 1.56

D. 2
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11. 1 3

1 1 3
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13.
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15. 0.5

A. 0.25

B. 0.5

C. 1

D. 2

(60 )

1.

50 Hz 1 m 1a X Y

1a
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1 m
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2. L1 2a

2a

(a) 2b C t = 0 t = 5 ms (3 )

(b) (2 )

(c) (2 )

(d) 2c L1 L2

L1 L2 5.5 O O

(3 )

2c

3. A P T1 ( 3)

600 kHz 500 MHz (1 MHz = 106 Hz)

3

(a) (3 )

(b) T1 ? (1 )

A B    C     D    E     F G     H

t = 5 ms
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t = 2.5 ms

t = 1.25 ms

t = 0

0.2 m

L1 L2

O

5.5
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(c) (2 )

(d)

(2 )

(e) 3 Q B BP =

3.95 km BQ = 3.20 km

(i) B P Q (1 )

(ii)

600 kHz ? (

) (3 )

4. 4a

4a

D 0.2 mm 3 x

D

D / m 0.5 1.0 1.5 2.0 2.5

x / cm 1.1 1.9 3.1 3.9 5.1

(a) (1 )

(b) (i) 4b x D (3 )

(ii) (b)(i) (2 )

(iii) (2 )

(c)

(3 )
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5. 5 ABCD P 40

25 PQ Q

( AQ DQ)

5

(a) (i) (2 )

(ii) (2 )

(b) (i) Q (2 )

(ii) (2 )

(c) AQD 1.33 Q
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(b) 10 cm 90 cm

(i) (1 )

(ii) 6b (3 )

(c) 2 m (b)(ii) 

(2 )


